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OObpa3oBaHue

NaQ¥ A8, = Nano, + Agel]
E ]@E ! MonekynsipHoe
* ypaBHeHue
Ng +ClI" + Ag’ +N\Qg IQIX+N®\§ + AgCl|

NMonHoe noHHOe
YPARBEHE- = AgCl|

CokpalleHHOe NOHHOoe
ypaBHeHue



Obpa3oBaHue
Manoguccoumupyrowiero
BeLlecTBa



2KOH +H_SO, =K SO, + 2H.0

MonekynsapHoe
ypaBHeHUe

2\Q+ 20H + 2H* + S\qu' = 2\\++ S\qu' +2H,0

lMonHoe UOHHOoOe
ypaBHEHuUe

20H +2H" = 2H,0 OH +H'= H,O

CokpalleHHOe NOHHOoe
ypaBHeHue



FeCl, /*l

=>

OOpa3oBaHue u
pacTBOpeHue

[ FeCl, +8@RA8HKa Fe(OH),| + 3NaCl

MonekynsipHoe
ypaBHeHue

Fe3* + §q + 3Na* + 30H = Fe(OH),| + ‘;’.I\\la\+ + 3?‘1'\

MonHoe MOHHOoe

FESPY30N = Fe(oH) |

CokpalweHHoe NOHHOoe
ypaBHeHUe



Fe(OH), + 3H" = Fe" + 3H,0



OObpasoBaHue

Nal@3 2HCI = 2Nacl + €01 + H,0

MonekynspHoe
ypaBHeHue

2|\1g +C0.% +2H++z\s\ 2Na* + 261 + €O} +H.0
NNonHoe noHHoe
818 aZBT-eZHI-T”e— coO T +H O

COKpau.l,eHHoe MOHHOE
ypaBHeHUue




